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S&P500 &% XIE Global Indices
2760 XEe52E(%) Close D-1 XS2E%) Close D-1
KOSP! 251023 -0.12 S=K 3101141 +036
” KOSDAQ 82999 -1.13 %= 7,731.02 +0.45
2750 DOW 2538580 +041 = 13,38559 +0.13
""""""""""""""""""""" NASDAQ 716358 +0.09 HZtA 552394 +067
7 S&P 500 275129 +0.13 AHel 10,42650 +0.27
o AISIOIESE 341390 +0.13 J2)A 84128 +0.50
730 1 1230 1420 1530 U= 23.849.99 +0.57 O[ER[O} 23,004.98 +0.70
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N2 &2 Z0I2t Yo oIz ot YLt FIOUXI(-1.17%), PG&E(-0.86%) & REEIE|
YT SPG(-2.20%), 2|ZE| AUH(-1.86%) S clXa58 SAts =izl & L2 ofef ATt o
T, 00|32 &(-5.86%)0t Q”(-2.50%)2 122 O|{QE LAt SHAEUCH= FHO| FEHO| =f
off ACH HE0 98X 44X 23X otz JFS FCh BH(-1.51%), HZEH(-1.38%),
AMAT(-1.90%) & St=X| 2EFE S8 512 YCh AKAE(-8.28%)2 ME2|AV} EXto|AS Stk

ZHOIAL 62 JHCH USAERN(-256% S HZA=E SHb 6l2t JlCt

StH, ZE|O{EAIO|AA(+4.97%), YT(+1.54%), HIO|RM(+2.04%) & HIO|LYUSB}t J&J(+1.59%),
=
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HE 9451 Y= PRAH0S1%), dALIN(+0.35%) & 28Fc =AZE] &80 U &5
Ct. ME[OZ(+1.05%), BOA(+0.50%), EETHAIA(+0.85%) &&= S8 &S ML
ZQ ETF
ETF 5&f SEE ETF &7 SHE
PRAIFLH ETF -0.15% U™ JHXI= ETF +0.15%
Of L X|ME] ETF -0.70% =9 JHK|3 ETF -0.11%
AN ETF -1.06% A% JHK|F ETF -0.30%
=8MH ETF +0.78% HiEF ETF -0.33%
JlgMle ETF -0.26% HESd ETF +1.15%
A4 O|C|o{YH| ETF -0.60% UE Y& ETF +0.21%
QIE{HIN| ETF -0.25% Y 8YF ETF +0.17%
2| XN ETF -1.14% 2 YEF ETF +0.11%
FEHAHMRAKN ETF -0.09% AlS= THHE ETF 0.00%
HIO|QMIE ETF +1.88% A= MHSH ETF -0.18%
A0 ETF +1.18% SHO|UE ETF -0.24%
=42 ETF +0.21% SIHSK] ETF -0.33%
Q=X ETF -0.94% Long/short ETF -0.32%
= 28H0, 71254
US [Sector Index
S&P 500 Close D-1 D-5 D-20
OflLix] 555.87 -0.32% +2.38% +9.04%
ATH 393.75 -0.21% +2.37% +6.09%
A 662.00 +0.60% +3.01% +5.44%
ERESTDY 81255 +0.12% +1.92% +5.26%
YA 588.02 -0.22% +0.66% +1.20%
dAH|0f 994.31 +1.10% +2.71% +3.80%
a8 474.69 +0.71% +2.38% +2.42%
IT 1,154.03 -0.26% +2.87% +4.81%
S 161.12 -1.83% -3.20% +1.92%
FEZE 260.52 -1.00% -1.71% —7.48%
234 198.81 -1.14% -1.90% -2.70%
= 2847, 7I35H
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FR HE Bt D-1(%)  D-5(%) =2 8% Bt D-1(%) D-5(%)
WTI 62.96 +1.99 +4.29  Dollar Index 92503 +0.16  +0.69
HUEQ 68.82 +1.53 +3.38 EUR/USD 1.1939  -023 -1.00
= 1,313.70 -0.51 -0.18 USD/JPY 112.61 -0.42 +0.28
2 17.010 -0.78 -1.14 GBP/USD 1.3540 -0.21 -0.37
A20|m 2,162.00 —-1.46 -4.67 USD/CHF 09829 +058  +1.15
XM= 7,137.00 +0.14 -1.26 AUD/USD 0.7823 -0.24 -0.09
ot 3,380.00 +0.54 +0.87 USD/CAD 1.2465 +0.35 -0.38
S 349.00 +0.50 -1.20 USD/BRL 3.2492 +038 -0.38
e 432.25 +1.05 -0.29 USD/CNH 6.5338 +056  +0.50
& 963.75 -0.31 -0.10 USD/KRW 1067.1  +0.10  +0.56
HL| 125.15 0.00 -3.88 USD/KRW NDF1M 1071.78 +0.34 +0.87

1048 23| ZIH%) D-1(bp) D-5(bp) [10H2 =&l B7H%) D-1(bp) D-5(bp)

o= 2.546 +6.57 +8.24 ALH|Ql 1.505 +3.10 -9.80
e 2.570 +3.30 +7.80 m2EZ 1.843 -0.80 -14.60
U= 0.071 +0.80 +2.30 [38|A 3.652 -0.50 -40.90
= 0.466 +3.50 -0.10 [0|Et2|ot 2.029 +5.00 -6.00




